Puzzle 14693 - Saturday, 17 June, 2017 - Difficulty 10

31 | 15 e e o
713|869 41|52
3717;11””::;’:;: :{3’””:::::,‘ | : é’g’iifﬁﬁ::i:iﬁi:}
91|65 81‘12‘113 4 | 7
: % ‘ ’25:’”:::,: ‘1’6’:;‘ i : ’2’6’::1’3 |
415|211 |7 3[6]8]9:
éf:::,‘ {éfﬁ" E::::, ’1’41111 : e ‘ i éfff::l
2149|8516 ]|7|3 1,
i i : i | i”:f::f,l i ;éfﬁ,’,‘ ’7’,::1 i ; : |
‘1}18}13”7 2 1956 4:
‘1’1"" ffff:;: 7270"" —— i i i % | Y{ii’:
516 (7|43 |1fF2]9]8:
:177"”"’2’?;:1 o éf::jfffff,ﬂ: é’diii f,:::‘ i %
6 (7 |4191|5F8]|2}3:
H ’161" — 1’{;1111
8125 (3[4 |7[9]|1]6
T 8 | 121 ]
39112 /6,8]47]|5

Copyright (c) www.dailykillersudoku.com




